Economic Analysis in Health Care – exercises

Chapter 1

Economic Analysis in Health Care – exercises

Chapter 10


NOTES TO INSTRUCTORS

10.1 Willingness to pay classroom experiment

This is an exercise which we have used successfully with undergraduate students.  It is described in full in a paper by Matheson (2004), which is available to download from:

www.williams.edu/Economics/wp/mathesonStarting%20Point%20Bias.pdf
To run this experiment you will need photocopies of the following three sheets – each student is to receive one of these, with roughly a third of the students completing each version. We also use a laptop and projector, so the data can be entered onto excel and the results produced more or less immediately and displayed for discussion. 

When we have conducted this experiment, the only preamble we have given is that this is an example of one of the kinds of questions that might be asked to determine WTP, and that the students are being asked to complete it to ‘get a feel’ for what it is like to be asked such questions.  The students are asked to complete the questionnaire, but not to discuss their answers or show their answers to the other students.

The questionnaires are then collected, and one instructor enters the data. While that is happening, the other instructor can engage in general discussion with the group on whether they found it difficult to answer the questions, problems with the way the questions were motivated, alternative ways WTP questions might be asked, and so on.

Once the data are ready to present, the instructor can announce that in fact three versions of the questionnaire were completed, and explains that the purpose of the experiment was to determine the extent to which framing effects influence the WTP values elicited from the general public.  Each time we have run this experiment, the results are quite stark – there is a substantial and statistically significant difference between the mean WTP and the range of WTP values evident from each sub-sample. 

The entire experiment can be run within a half-hour – it only takes 5 minutes for the students to complete the questionnaire; data entry time depends on the number of students but is not difficult; and subsequent discussion of the results, their interpretation and implications, around 10 minutes. The experiment works with both small and very large numbers of students. In the latter case, the questionnaires can be distributed, completed and collected at the start of a lecture; then a lecture (for example, on contingent valuation) can proceed while the data are entered and results generated; and 10 minutes left at the end of the lecture to present and draw out the implications of the results. 

Reference 

Matheson VA. (2004) Rationality, Tort Reform and Contingent Valuation: A Classroom Experiment in Starting Point Bias. Department of Economics working paper, Williams College. Paper may be downloaded from: http://ideas.repec.org/p/hcx/wpaper/0509.html
You are serving on a jury which is deciding on compensation for personal injury.  In the case before you, a 50-year old building worker was injured whilst working because of negligence by his employer.  As a result, he had his right leg amputated at the knee. Because of this disability, he cannot return to the building trade and has few other skills with which he could pursue alternative employment. The negligence of his employer, which is a large and highly profitable corporation, has been firmly established.  Therefore, your job is to determine how to compensate this worker for the loss of his livelihood and the reduction in his quality of life.

Should the worker be compensated more or less than £10,000? (Tick one box.)

	Less than £10,000
	 
	
	More than £10,000
	


How much more or less than £10,000 should the builder be compensated? Write down the total amount that you think he should receive.

	£
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NOTES TO INSTRUCTORS

10.2 Eliciting TTO values in the classroom 

See:
Excel spreadsheet: TTO.xls


Excel spreadsheet: EQ-5D index calculator.xls

Rather than simply describing the TTO (and other valuation techniques) to students, we have found that students gain a much deeper understanding of health state valuation techniques by actually engaging in a valuation exercise themselves.  

We have provided an Excel spreadsheet (TTO.xls) which is designed to act both as a presentation aid to explain the TTO, and to enable instructors to elicit TTO values from volunteers from the class.  This can be performed for one individual for a number of health states; or for one health state on a number of individuals.  We have found that 1-2 demonstration elicitations are sufficient to give students an insight into how TTO works: the entire exercise can be undertaken in 15 minutes as part of a lecture – or, with more extensive demonstration and discussion, the exercise could form the basis for a one-hour class. 

The spreadsheet displays two EQ-5D health states: one is full health, the other (any) less than perfect health state.  Participants are first asked to imagine what it would be like to live in the less than perfect state for 10 years.  They are then asked to consider a smaller number of years in full health, and asked which they prefer. This continues as an iterative process until the participant is indifferent between 10 years in the less than perfect state and a given number of years in full health. At that point, the value for the less than perfect health state will be generated by the spreadsheet. 

Hints:

· We suggest you restrict the demonstration to, or at least begin with, ‘mild’ EQ-5D states, eg. 12211, 21111, and so on. States which have moderate problems on many dimensions (eg. 22222)  or which contain extreme problems (eg. 23323) may be considered by participants as worse than dead when contemplated for a given duration. The elicitation procedure for such states is rather more complex.

· When we have used this in class, and selected a student to demonstrate the process on, we often find that other students dispute the participant’s responses.  This provides a good opportunity to discuss the nature of valuations – they are idiosyncratic, and depend on individual preferences, so there are no right or wrong answers (other than responses which are clearly illogical or demonstrate a fundamental misunderstanding of what is being asked). It also provides an opportunity to discuss the way in which individuals’ responses are used – ie. Social value sets are constructed from the average responses from a sample of the general public. 

· It may be helpful to be equipped with the EQ-5D value set corresponding to your particular country/health care system, so that the social values actually used in economic evaluation may be compared to those you have elicited. A comprehensive inventory and review of these is provided by Szende et al (2007). A very simple to use health state valuation calculator for EQ-5D states, in excel form, is also provided 

here. This allows you to show the value for any EQ-5D health state for any country and from a variety of studies. 

·  If time allows, this also provides an opportunity to demonstrate and discuss how value sets are estimated, and how the value for any given state is calculated from the coefficients for each dimension/level. 

Reference  

Szende A, Oppe M, Devlin N. (2007) EQ-5D value sets. Inventory, comparative review and user guide. Dordrecht: Springer. 
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